
SOCIAL SCIENCE 

Q.1- Which river is called the Dihang when it enters India in Arunachal Pradesh? 

Ans- (b) The Brahmaputra 

Explaination- 

The Brahmaputra originates from the Chemayundung glacier near Manasarover lake 

in Tibet. In Arunachal Pradesh, Brahmaputra is known by the name Dihang. 

Brahmaputra enters India through the west of Sadiya town in Arunachal Pradesh. 

Q.2- Which one of the following peninsular river of India flows west and makes 

estuaries? 

Ans- (d) The Tapi 

Explaination- 

The Narmada, Periyar and Tapti are the only long rivers, which flow west and make 

estuaries. An Estuary is a partly enclosed coastal body of water with one or more rivers or 

streams flowing into it, and with a free connection to the open sea. Only West following 

rivers of India forms Estuary. 

Q.3- Which of the peninsular rivers is called the ‘Dakshin Ganga’? 

Ans – (c ) Godavari 

Explaination- 

River Godavari is also known as Dakshin Ganga. It is the largest Peninsular river 

system. It rises in the Nasik district of Maharashtra and discharges its water into the 

Bay of Bengal. 

Q.4- The valley of Kashmir is famous for the 

Ans (d) All of the above 

Explaination- 

Kashmir or North-western Himalayas comprise a series of ranges such as 

Karakoram, Ladakh, Zaskar and Pirpanjal. Between the Greater Himalayas and the 

Pirpanjal range lies the famous valley of Kashmir and Dal Lake. This place is famous 

for kahwa. 

Q.5- Our country is divided into 

Ans- (d) 552 Constituencies 

 

 

 

 



Q.6- The minimum age required for being a voter is 

Ans (c ) 18 Years 

Explaination- 

The minimum voting age in our country is 18. Every citizen who is at or above the 

age of 18 has the right to vote. 

Q.7- Which of the following is not included in the primary sector? 

Ans- (a) Manufacturing 

Explaination- 

The primary sector includes agriculture, forestry, animal husbandry, fishing, poultry 

farming, mining and quarrying. 

Q.8- Which of the following is included in tertiary sector? 

Ans -(d) Health 

Explaination- 

This sector includes activities such as trade, transport, communication, banking, 

education, health, tourism, services, insurance, etc. 

Q.9- Investment in human capital can be made through 

Ans- (d) All the three 

Explaination- 

The best way to invest in human capital is through education, training and medical 

care. 

Q.10- The number of females per thousand males refers to 

Ans – (a) Sex Ratio 

Explaination- 

Sex ratio is defined as the number of females per 1000 males in the population. 

 

 

 

 

 

 

 

 

 


